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How does the pedigree-selection breeding procedure differ from the bulk-population breeding procedure?
(10%)

[

2. Why is recurrent selection a more efficient breeding method in cross pollinated crops than self-pollinated
crops? (10%)

3. How can you determine a crop plant is primarily cross- or self-fertilizing?(10%)

4. What factors influence gain from selection? (10%)

5. How does cytoplasm male sterility differ from genic male sterility? Why are male restorer genes necessary
(C line or R line)? (10%)

6. X dihybrid & F2 4 & &0 GEELE B 1:2:1:2:4:2:1:2:1 » Wi
a. b= K B e A b 4 75 BAT ? (3%)
b WA BH BEFERAEEH? Q%)

7. MEE&EESHEEA B S Mk ® R m Al RTLEBRA - Fo B AR A 2 ag 44 ik o RBEA B
Tz ®mE340: 148 : 140 %/\{Fi's‘i,ﬁ‘-ii@ﬁit%F%ﬁ%i\ﬁﬁﬁéﬁz’%&‘3—.’“‘%'] R A L A 0
Lo b a3t 47 > 8% smmim o A Mg AL 7 (3%) B R A 47 ?(2%)

8. MMRM~ Ecoli 4 tRNA » mRNA - & 1RNA TR EAER o & K B T BUE Ak 6 88 3F h —
polypeptide(10%)

9. B EAHN DNA L v R p
a. MR AR S (#) DNAsequence T B =4 ? (3%)
b.  ERAEFmM KA 4.5% 10" bp » AAEHERAANRE ?(2%)
¢ ARERESH?ELTE? (%)
d REZEARSE (R)H8EEE?(Q%)

10. About Sex-linked recessive inheritance (2% of each)
(TorF) 1. Most affected individuals are female.
(TorF) 2. Affected females come from affected fathers and affected or carrier mother.
(TorF) 3. The sons of affected females should be affected.
(TorF) 4. Approximately half the sons of the affected mother should be affected.

11. Please fill out where the “?” mark is: (12%)

Multihybrid self-fertilization, when n equals number of genes segregating two alleles each
n=1 In=2 |n=3 |General rule j
Number of F; Gamete genotype 2A-1 |7A-2 |7A-3 (7A-4

Proportion of recessive homozygotes among the Fas ?B-1 |7B-2 [?B-3 [7B-4

Number of different F2 phenotypes, given complete dominanace 2C-1 |2C-2 7C-3 12C-4

Number of different F2 genotypes 3 9 27 3
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